Assignment #11 Math 290 Name:
1. Determine the Laplace Transform of the following functions:

a) f(t)=56 =2t+3+2cos(2t)-3e”

b) f(¢)=5sinh(2¢)+e* cos(3r)—5¢* -3

c) f(t)=e"sin(4t)—5¢ cos(7t)+3t* +2

2P +3;0<r<1
d) f(t)=43 1<t<3

e >3



2.

Determine the inverse Laplace transform of the following functions:
2
2) F(s)= S +2s+38
(s+2)(s* +6s+16)

45> —8s5—86
(s+2)(s+5)(s—4)

b) F(s):



45> —235+16

F(S)= (5—4)(52 —6s+2)

2s* —45-23

Flo)= (s+2)(s*+8s+19)



Using Laplace transform to solve the following DE:
a) y“+5y'+4y:205in(2t);y(O):l,y'(O):—Z



b) y'+2y'=2y=3e"; y(0)=3, y'(0)=-1



c) y"-y=8¢sin(2t); y(0)=2, y'(0)=-2



d)



